October 23, 2019
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1. Byron has 72 0'55 in his foin jar. The com jar
contains only dimes and . If he has $14.70 in his
CE— ——
coin jar, which equation can be used to detcnninthe
number of quarters he has?

1. 1470+ 0259 =172 i of dime S
2. 0.10(g — 72) + 0.25q = 14.70
—>3. 0.10(72 — ¢) + 0.25¢ = 14.70 72-1

x 0.10g + 0.25(72 — q) = 14.70 e ——
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2. Which point is a solution to the system below?

w<lzed Y L—pXt2,

y<—6x+4
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3. The formula for volume of a coni 1S (V):(l 725} The
3

3

height, A, of the cone by be expressed as
3V

.
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4. Which value of x 1s a solution of the mequality 25x —
100 < 250?

@ 21 25X~ 100 <250

2HX < 35D
2L 2h

X< 1Y
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5. The length of a rectangle 1s three feet 125 than twice
its width. If x represents the width of the rectangle, in
feet, which inequality represents the area of the rectangle
that 1s at most 30 square feet?
(Ty(x—-3)<30 ZX -}

2. x(2x—3)=30

3. x(3—2x)<30 )8

4. x(3—2x)=30

T

X (2x=3) £ 30
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6. What is the solution of 3(2m — 1) <4m + 7?

3m=4 A m>4
6m —3< 4mtT]
2M—35<T
M40 mab
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7. Which graph represents the inequality y > 3?
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